Proof by Exhaustion:

Why a Knight Cannot Traverse a 4(4 Grid
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	Initial play establishes some basic principles:

I.  The only way in or out of a corner is through what kind of point?
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II.  Edges can be covered in one of two circuits of four sites each.

III.  Moving from one edge circuit to another requires a visit to what kind of site?

Let A represent an edge-edge-edge-edge circuit of four sites.

Let B represent an interior-corner-interior circuit.

Beginning in a corner, these choices emerge:
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Visiting an edge site without doing its entire circuit leads to use of interior points needed to (a) visit corners or (b) change circuits.  

Every visit to a corner requires a visit to an interior site.

  Four corners means four interior site visits.

Change of A circuits means a visit to an interior point.

To traverse all 16 sites, all four corners must be visited and circuits must be changed.

Five interior sites are needed.  Only four exist. 

